MATH 141
SUMMER 2016 NAME:
Exam 2
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. Use a substitution to find the integral: /— dr.

—_

er — 2e~ %

[\)

: Use integration by parts to determine each of the following.
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: Find each indefinite trigonometric integral.
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. Use a trigonometric substitution to find the indefinite integral
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. Use partial fractions to find the indefinite integral.
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. Evaluate the improper integral, or show that it diverges.
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FORMULAS

tanz =y < tan "ty =2z, forz € (—7/2,7/2)
cotr =y & cot™ly=ux, forxze (0,n)

secx =y & sec ly=ux, forxel0,7/2)U(n/2,7]
cscx =y & cscly=ux, forze|[-m/2,0)U(0,7/2]
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/secxdm = In|secx + tanz| + ¢, /cscacdx: —In|cscx +cotz| + ¢



